Section—-C 2%x14=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
g us—H
(& 3T uv)

fAder - forsl S wel & SW SIS 3T e SR T SAfhan
500 =i H Ui ST T 999 14 371 T 8

10. Highlight the salient features of the Indian
Constitution.
IR wfgeam &t ggE foReaei | yEmen iy |
11. Evaluate the land reforms in India after
independence.
A & IYE YR & Y GURI 1 JeATHRA IS |
12. What were the objectives, causes and impact of the
nationalisation of banks in India ?

YRA § Sl & TSIl & 3e39, RO SR JHE F
q 7

13. Analyse the theoretical basis of India’s foreign
policy.
g & facw Hifa & dgif<e smam =1 fagerom
I |
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The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
T YeA-9 ‘31’ ‘9’ SR ‘| e wuel | fawifea ®)
TAF TUE & RIMTER U9+ & IR Y |
Section-A 7x2=14
(Very Short Answer Type Questions)

Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.

g ug—37
(fa oy 3T Uv)
Tt ge B S AT 3T ST S HI ITATEAR
THh Ve, U 9 A1 SAfuehad 30 T8 H iEiEd
FIC | JAF G 2 3T HT B
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(i)

(iii)
(iv)
(v)

(vi)

(vii)

Note —

orden -

Define Regional Political Party.
&g TSHITash g1 o1 AR shifs

What was the main reason for adopting the
Parliamentary System of governance in
India ?
IRd § GEEE A YU W ST W THE
HROT F AT 7
Who was Vinoba Bhave ?
forten s = & 2
What is mixed economy ?
fafya stefeewen #1 © ?
What do you understand by globalisation ?
ATARIOT § Y FA G & 2
What was the consolidation of holdings in
land reforms ?
qf GuR | Sl 1 aeeat @ ot ?
What is the ‘Rule of Law’ ?
“faftr o1 oA’ ¥ 2

Section-B 4x7=28

(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Q us—a

’ (e I q9)

frdl =X wedl % SW AT o9 o9 IR A
dAferhad 200 w1 H UREIHT RIS THF g
7 3t H T
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. What were the major difficulties in the merger of

the princely states in India ?

aRd | <9 Femdl & faom # g wiesat @ of 2

. What were the main causes of the Green

Revolution in India ?

IRa # TRa wifd & I9& SR ¥ F ?

. Write a short note on Srikakulam Peasant

Movement.
SihTeRem fFaM <o W U dfera feuoft fafem )

. Evaluate the achievements of economic planning

by the Planning Commission in India.

YRd H AET SAEN gR YR RS s Suetfer
1 AT HIT |

. What is the economic liberalization ? Why did

India initiate it ?

aMfereh SERI 1 & ? uRd o 3§ o femarted
T ?

. Analyse the significance and the challenges of the

political parties in Indian democracy.

IRAT Ahas H ToHiae Sl & "o AR A
EARENCELECIIE 1]

. Write a short note on the Indian space program.

ORI STaRel ®E%H W T gfea feooit fafem)

. What are the potential threats from the

multinational corporation in India.

IRd | S A 9 o genfad 'w ¥ 2
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